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P3-16

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR ERR

07:30 124 150.0 R5| 1Ri%e07:30 KRHIERF (RAEHS)
08:05 124 150.0 Ag| 1Ri%@08:05 KENFEF (KAEEES)
09:25 124 150.0 (B =| {Ri&e@09:25 KENFEF (RATREE)
10:25 124 150.0 (=] 1{Bi&e10:25 KHEF (FHAERSE)
11:20 124 150.0 (2 =| {Ri&e11:20 KHEF (RFAKESE)
12:10 124 150.0 (B =| {Ri&e12:10 KEEF (RAKESE)
12:55 124 150.0 |Z=| 1RiR@12:55 KEEF (RAFESE)
13:45 124 150.0 (2 =| {Ri&e13:45 KHEF (RFAKESE)
14:35 124 150.0 |Z=| 1Ri%014:35 KREIERF (REAEESE)
=it 1116.0 (9%) 1350. 0 32933 %EC: 2080.0, PH: 6.0

REREBIEC (2635.0) H5iZEEC (2000.0) REK KA, BHEE

HEEHECE (2635.0 vs 4335.0) 15
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P3-16

BriE) | EBIATK (FD) | EHE (EH/HK) | XK R

07:40 135 150.0 |Z=| 1Bi8e07:40 KMiEF (RAERSE)
08:10 135 150.0 (2 =| {Ri%e08:10 KEEF (FRFAIEEE)
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12:00 135 150.0 Be| Ri%012:00 REFEF (KAEZRE)
12:50 135 150.0 BE| 1BRi%e12:50 REEF (KEEZEE)
13:45 135 150.0 BE| 1BRi%e13:45 RHEF (KFAEZRE)
14:35 135 150.0 Be| 1Ri%014:35 RHEF (KAEZRE)
15:25 135 150.0 el 1BRi%e15:25 RHMIEF (REEZRHE)
23+ 1350.0 (10)%) 1500. 0 3233 %EC: 2080.0, PH: 5.8

large discrepency for begining water status (167:6.0), set to 167 ml.

REXEEBIEC (2655.0) 5% FEEC (2000.0) REKR A, HFHE
BE[EIRECE (2655. 0 vs 4640.0) 1T 5
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